T .
qv} 3 O m ;mm
= S ™ & i
S=Z= O g
VR.l D~ 2
% L2 N <9 i
oHi=D = w s = g
N~ £ 0 [
s9 - S cg
= 22 o
@© & = —_ (@) 2 T :
s =& Qg c S 25 SIS
<5 L m 7p) > S <0 T8 cg
= =P Q o9 ge 3@
DO — (@) (@®)] <&} ©® O =5 =
- W 5 n_.O () Z S o 02c
EXTS S5 = ~ &% Gaiat
eD.m Z1 C o ugm sz
mm.m S O« QL Seg- 282538
3T & S = &8 S 585% .

== 1E o cC c =

cc O« =0 v Eo

n a RU. "ua Wmmuu
c2 L° =0 BEfe 1331

o © _ Sg=9
o Io T B2 8
© O - Wm 5092 2gc¥
mnla c 2 =2E 05:=F E
: c = = O~ H.m.eM
— - T8 on== Seaz

lLO Wh non JIek

g
In der Struth

»Betriebserweiterun
Zimmerei Bundschuh«
G 0,33 ha/M 0,06 ha/ Griin 0,55 ha
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